
over and above what was Intended to be appropriated for 
that agency last year.
SENATOR WARNER: Generally, but a very broad exception
would be Special Education v/hich by law is a reimbursement 
of the previous year's expenditures and we have no way... 
like for example this year's appropriation I know is some­
thing less than what the Special Ed will cost but when you 
have no way of knowing those final figures until the schools 
have filed for their reimbursement which is roughly a year 
after we pass the budget, nine months later.
SENATOR PIRSCH: Okay, but on things like the State of
Nebraska Archives and the...well, the Workmen's Compensation 
you did explain, but some of these others, they were alloted 
7 percent over their previous year's budget, is that correct? 
For the general?
SENATOR WARNER: Not necessarily, in the case of....
SENATOR PIRSCH: Were they limited in most instances to the 7
percent over their previous....
SENATOh WARNER: The way it works they have changed...well,
the overall budget was about that, it would be different 
from agency to agency, but the Historical Society is purely 
cash funds which has nothing to do with the general fund.
SENATOR PIRSCH: Okay.
SENATOR WARNER: And in this case it is that they have
additional sales of the things that they do sell that would
exceed their cash fund authorization, and then they have 
these archaelogical digs which they cannot always antici­
pate. There is ususally a kind of a level amount but some 
years it may be accelerated and this is so they can accept 
that money.
SENATOR PIRSCH: On the whole, would you say though that
most of these deficits did exceed the 7 percent limit that 
was added to their appropriations from the previous year?
SENATOR WARNER: As- a general statement, Senator Pirsch,
this year it would be somewhat of an exception because of 
the special session, but as a general rule the amount of 
money that has lapsed on June 30th by all agencies....
SENATOR CLARK: You have one minute left.
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SENATOR WARMER:  is usually about equal to the deficiency
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